Multi-digit: S1

Addition Word Problems

1)

2)

3)

4)

5)

6)

A garment factory manufactured 4,668,000 pairs of woolen gloves and 1,150,800 woolen
scarves in a year. How many winter accessories did the garment factory produce in all?

A warehouse club has 52,145 packs of frozen raspberries and 561,202 packs of frozen
strawberries. How many packs of frozen berries are there altogether?

A popular bakery chain sold 3,320,620 tarts and 855,048 brownies during the 12 days
of Christmas. How many baked goods did they sell during the festive season
altogether?

A movie made $65,909 in California and $95,428 in New York. How much money did the
movie rake in from the two states in all?

An automobile factory exports goods worth $2,304,603 to Canada. Their exports to
France amount to $4,592,080. What is the total worth of goods exported to Canada
and France altogether?

A large poultry farm produced 742,734 eggs in one month and 802,387 eggs in the
next. How many eggs did the farm produce in all?
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